
‡ivj bs cixÿv_x©‡`i bvg Aviex evsjv Bs‡iRx MwYZ †gvU ‡MÖW ‡gav gšÍe¨

1 wgkKvZ 97.5 97 98 98.5 391 A+ 7 DËxY©

2 Zvmwdqv 99 98.5 98.5 99.5 395.5 A+ 2 DËxY©

3 Avwe`v myjZvbv 97.5 99 96.5 99.5 392.5 A+ 4 DËxY©

4 eykivZ Rvnvb 97 98 98.5 99 392.5 A+ 5 DËxY©

5 BqvQwgb 98 96 97 97 388 A+ 10 DËxY©

6 bymivZ nK 95 95 95 98 383 A+ 15 DËxY©

7 gykwdKvn 95 95.5 95.5 97.5 383.5 A+ 14 DËxY©

8 gwiqg 98.5 95 97 99 389.5 A+ 9 DËxY©

9 myivBqvn 89 93 92 98.5 372.5 A 41 DËxY©

10 Av‡gbv 93 95.5 94 97.5 380 A+ 20 DËxY©

11 RvwKqv gxg 93.5 93.5 94.5 95.5 377 A+ 27 DËxY©

12 mvw`qv 93.5 93 92 96.5 375 A+ 34 DËxY©

13 ivwngv 89.5 94 92.5 97 373 A 38 DËxY©

14 Avdivn 95 96.5 92.5 95.5 379.5 A+ 22 DËxY©

15 Zvwggv 95 95 95 96.5 381.5 A+ 19 DËxY©

16 ‡ivnv 96.5 96.5 92.5 93 378.5 A+ 25 DËxY©

17 Av‡qkv-1 96.5 97.5 99.5 98 391.5 A+ 6 DËxY©

18 wgw_jv 93 93 95 93 374 A+ 35 DËxY©

19 Av‡qkv-2 93.5 95 97 96.5 382 A+ 18 DËxY©

20 ‡gnRvweb 93.5 92.5 94 96 376 A+ 30 DËxY©

21 mygvBqv LvZyb 100 99.5 99.5 100 399 A+ 1 DËxY©

22 Zvbnv 89 77 89.5 81 336.5 A 67 DËxY©

23 Abycw¯’Z

24 BKiv gwY 90 92 90 85 357 A 60 DËxY©

25 gvwiqv 97.5 95 94.5 99 386 A+ 13 DËxY©

31 iæKvBqv iæKz 95.5 95.5 94 97.5 382.5 A+ 17 DËxY©

32 dv‡Zgv 40 21 40 63 F 1 wel‡q cixÿv

33 Bdv` 64 23 61.5 58 F 1 wel‡q cixÿv
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†kÖwY: ‡cø (kvLv-K)



‡ivj bs cixÿv_x©‡`i bvg Aviex evsjv Bs‡iRx MwYZ †gvU ‡MÖW ‡gav gšÍe¨

1 ‡mvnvbv 85 93 98 97 373 A 39 DËxY©

2 jvweev 98 99.5 99 99 395.5 A+ 3 DËxY©

3 gvnveyev-1 97.5 97.5 98.5 97.5 391 A+ 8 DËxY©

4 gvBgybv 90.5 89.5 94.5 96 370.5 A 43 DËxY©

5 gwiqg 96.5 94.5 96 96 383 A+ 16 DËxY©

6 gvnveyev-2 90 93 91.5 93.5 368 A+ 49 DËxY©

7 bymvBev 86 87 92 93.5 358.5 A 57 DËxY©

8 mvwgqv 84.5 83 84 93 344.5 A 65 DËxY©

9 ivBmv ingvb 90 93.5 95.5 95 374 A+ 36 DËxY©

10 gvndzRv 88 92 96 93.5 369.5 A 46 DËxY©

11 Av‡qkv 97.5 86 95.5 97.5 376.5 A 28 DËxY©

12 gvBgybv 84 59 90.5 93.5 327 A 70 DËxY©

13 KwbZv 95 97.5 97 98 387.5 A+ 11 DËxY©

14 gvBkv gwY 64 92.5 90.5 96 343 A 66 DËxY©

15 wig 92.5 94.5 95.5 97 379.5 A+ 23 DËxY©

16 Avwdqv 90 92 94.5 93.5 370 A+ 44 DËxY©

17 Ryev‡qi 90 93.5 92 94 369.5 A+ 47 DËxY©

18 wRnvb 90 91.5 96.5 94 372 A+ 42 DËxY©

19 mvBwd 88 91 96 95 370 A 45 DËxY©

20 mvdIqvb 84 91 91.5 93 359.5 A 56 DËxY©

21 gvBkv 92 93 95 96.5 376.5 A+ 29 DËxY©

22 eyinvbv 87.5 35 91 95 we: cv: DËxY©

23 mvweŸi 90 93.5 94 84 361.5 A 54 DËxY©

24 mvdIqvb †i`Iqvb 52 66.5 65 78 261.5 B 75 DËxY©

25 ZvbRxg 71.5 61 88.5 91.5 312.5 A- 73 DËxY©

26 BmgvBj Abycw¯’Z

27 dvinvb 91 92.5 95 95.5 374 A+ 37 DËxY©

28 Bgb 91.5 94.5 96.5 97 379.5 A+ 24 DËxY©

29 ‡i‡`vqvb 85 90 94 93.5 362.5 A 53 DËxY©

†kÖwY: ‡cø (kvLv-L)



‡ivj bs cixÿv_x©‡`i bvg Aviex evsjv Bs‡iRx MwYZ †gvU ‡MÖW
‡gav 

¯’vb
gšÍe¨

1 Avãyi ingvb 86 80.5 44 95.5 306 A- 74 DËxY©

2 mv`vZ †nv‡mb 81 92 93 95 361 A 55 DËxY©

3 Avãyi inxg web gvmE` 97 97.5 96.5 96.5 387.5 A+ 12 DËxY©

4 ‡Rvev‡qi 91 96.5 87.5 98 373 A 40 DËxY©

5 AvwkKzi †gvjøv 84 96 93 96.5 369.5 A 48 DËxY©

6 gvnv`x 90.5 96.5 94.5 97 378.5 A+ 26 DËxY©

7 gvwni f‚Bqv 87 89.5 87 94.5 358 A 58 DËxY©

8 Avãyjøvn Avj Zvnmxb 81.5 86 70 87.5 325 A 71 DËxY©

9 Avdbvb †gvjøv 77 38 74.5 69 we: cv: DËxY©

10 ZvbRxj 78 86 93.5 88.5 346 A 64 DËxY©

11 winvZ 87 61 86 90 324 A 72 DËxY©

12 Av`bvb †gvjøv 52 30 76 67 we: cv: DËxY©

13 kvnv`vZ †nv‡mb 71 89 91 83 334 A 68 DËxY©

14 Avt Avnv` †gvjøv 74 90.5 93 95 352.5 A 62 DËxY©

15 Avhvb Avjx 85 86.5 91.5 94.5 357.5 A 59 DËxY©

16 ivnvZ †`Iqvb 89 91 91.5 95 366.5 A 51 DËxY©

17 ZvgRx` 62 52.5 71 54 239.5 C 76 DËxY©

18 Ckvb 88 90.5 79.5 93 351 A 63 DËxY©

19 Avãyj nvgx` 89.5 96 97 97.5 380 A 21 DËxY©

20 Rv‡ei Bmjvg 82 92 91.5 87.5 353 A 61 DËxY©

21 Avexi 86.5 93 90 95 364.5 A 52 DËxY©

22 Avey BmnvK 85 94 90.5 97.5 367 A 50 DËxY©

23 iv‡k` 69 92.5 85.5 84 331 A 69 DËxY©

24 Avqqvb 91 93.5 94 97 375.5 A+ 31 DËxY©

25 Avey eKi wmwÏK 92 93 95 95.5 375.5 A+ 32 DËxY©

26 Avãyi ingvb 89 95.5 93.5 97.5 375.5 A 33 DËxY©

‡gvU cixÿv_©x 81  Rb, A+= 38 Rb, A= 34 Rb, A-= 2 Rb, B= 1 Rb, C= 1 Rb, D= 0 Rb|

we‡kl we‡ePbvq DËxY© 3 Rb|  ‡gvU DËxY© 79  Rb, AK…ZKvh© 2  Rb| cv‡ki nvi 97.53%

cÖ¯‘ZKviK                                                                                                                                Aa¨ÿ

†kÖwY: ‡cø (kvLv-M)


